 GST 35 TS oI 2035-033 PRFR

- omidfReate: 25 x 1 = 25

GST &1y 3 AT : 09-3

[ Short Syllabus ]
01. G0 FICAT BTF TSI 8 FHOIAY AfiFag Hejt AT GFHG?

(@) 1,2 (b) 3, 1 (€)1, 1 (d)2,2
1 iR ST
4 FEeriw 2 TSI
ANHA: (d); R efret
3 STEtw TUSeT

> 1 G992 3 T2 — o AfeFat > 2 AR 4 7R - ooy A

02. &F Y& TEMER MCF 4 m ISR AW wiHF e 3 m T | ©fF Sifoeris 7y @ FHeei i) © m?
(a) 2 (b) 4 (c) 1 (@7
FAAY: (a); TEMES e = e

> o2

3m

2 AN
vad
4

U we
799 = V42 + 32 m = 5m; WSFB §HG = (4 + 3)m = 7m . TG €I FLEF ASFT = (7 — 5)m = 2m

03. I (AT 0.5 kg LA TG S TG FATod TS QL= | oM At 3 2.4 N 2, OIRe SNt 999 T ms =29

(a) 5.0 (b) 5.5 (c) 6.0 (d) 6.5°
ATIYA: (a); ASHR 4T Fy = 24N TF.L
Grafed g2 2 432 %3 m = 0.5 kg
W - szmﬂﬁmg-rk—n'IE a
=a_g——_(98— )ms‘z-—(ﬁﬂ —4,8)ms™2 = 5 ms™2 W

04. XY 5wt 6] + 8] — 5k (9afba (A T6 YIH?
(2) 6 (b) 10 ()0 (d) 5v5

Y (b); XY TS 6] + 8] — 5k (w7104 i = V36 + 64 o = 10 G
05.  TRIFEI7 &Fata Tl (FIio?

(ﬂ) M~LAT2 (b) MLE I"'z (C) M'—"EL&’] -2 (d) ML:-]-I-;_E
wd
TR (a); F = "2 = ¢= T, f'mmm‘r-“” XL o M-1p3-2

MmNz

I /) A




Va. ¥4

06. Wmﬁmﬂwmaw
() P17 € MG AT (b) T e TMEITTE (o) Ty IR (d) T5% TN

4 (a); &7 S, P o T [03f FEI0Ea SIAR o]
A, =§nRT = E, o T -~ SII@] IS 519 8 oI qreq |

08. FALTECINE T TiEl 1kg ©@d GI(6 IEE A (AE B 9o @@ 2 @ae B A A [97qee [Fiaey wiat =g=i

209 ©o 9o J T F4 LA1?
(a) 1 (b) 0 (€) 0.5 (d) 2
SHIY: (b); AHENe <91 7l bt FoTre 47 |

09. G T v @O BT TS O S 37 ©tEw faad =01 3 ¢ ST @9 TW, OR @INi0 AT

3 V2 V3
(a)v=%c (b)v=ﬁc (c)v=—3—c (d)v=?c
V3
—C
2

3
cz=}v=

HAYH: (d); 2my = m = 2my =

502

4Q2
3Q
I—

(a) 2 (b) 3 (c) 3.5 (d) 2.5
5€2 50 Q)

A AN\ ——
A 40 —_— S — —/\WWA\—
TAY: (d); ‘ AW — AAA 2.5Q

10 _A_A::I_B 30 20 5Q

40

11. G383 B 15 N 37 3s 403 fral e 9o SAR0TA A9 F© kgms 17
(a) 25 (b) 30 (c) 45 (d) 50
T: (c); Ap = FAt = (15 X 3)Ns = 45Ns = 45 kg ms™!
12. &I o134 FiSIE 8 A — 200 V @RI SITR | @ AT 406 1S Fratoram A 3727 F90e @ AfSh 3ifes

e FO W J?
(a) 40 (b) 50 (c) 60 (d) 70
S (a); GG F5el, P= VI =200 X8 = 1600 W
x Felg 40 0 S I ¢F@, x X 40 = 1600 ~ x =40 W
13. LIS (I @0 A9 (Iedd (S 8 (@ ie o1% UG 07

(H)ZTrﬁ.'J% (b)JE,an (c) ZT[J%,E (d)ﬁ,zn\lg
W(a)T_mJ_ m_._“=._.f J_

14. O30 oI IEIE 1 m | @ft R 15 919 70 e Aes RT @1 F9 ms™12
(2) ®)7 (c) 2n (d)3

AAYH: (b); v = mr—mxmxlms =—m5 -1

sgw /AN




GST: 252 SR ﬁ /7 =2 / Y/ GST o0 3 TEIAIH: 2035-33

15, G SERARRIRE STt 300 K (It 350 K 5148 qoie-

(2) QRICT TR FAA (b) & ZCETRGLTA TR ST

(c) T& CETRGCTA FGT T (d) & 2GR e 3 At

TN (b); TEARRTe SIoIAT ATITA TR (G e T 1 T, & ETRECTA AT ISR |
16. (101011), AT NG (AN el F57 |

(a) 41 (b) 43 (c) 39 (d) 45

TARI: (b); (101011), =1 X204+ 1x 214 0x 22 +1 %23 +0x 2% +1x 25

=1+4+2+0+8+0+32=(43),,

17. TR GF &-oT A1 n-o STl ot B wararam Wi+ iib?
(a) 2n (b) (2n + Dm ©) 2nm @32 (2n+ D (d) I 77
T (b); n O SHI (ORI & A= AT Ax = (20 + 1)
--W*ﬂﬂiamcp=?ax=5§(2n+1)§=(2n+1)n

18. SR 29w ¢ fadh sjtaw swfae At @ mis?
(2) TdS = dU — vdP (b) TdS = dU — PdV (c) TdS = dU + VdP (d) TdS = dU + PdV
FMYE: (d); —rﬁﬁ%ﬁm 2% 57@3 dQ = du + PdV

SRR T 97E3 4% _ 4S = dQ = TdS - TdS = dU + PdV
19. 2?°cm‘°mmﬂama ST TSt 70% Q3R RIRRTE 5770 S 1 5194 14 x 1072 mHg T @ Sroar

W@@ﬁﬂﬁf’ﬂﬂﬂﬁ mHg?
(@) 12 x 1073 (b) 16 x 103 (€) 20 X 1073 (d) 22 x 1073
T (c); TS TSl = m&?m
= & OAR FE S 572! = 1“”;:_‘?“_3 mHg = 20 X 103 mHg.
20, ZR 97 fafoa ~Hfrmm A SRAMTE G R TR0 R 1 ;W A i Sege oot vy Ay 21 o (G
A7
(a) Ay  (3) (b) Ay o A? (©) Ay « A (@) Ay « (53)

FATG: (c); AR 720 Toget (CIAIE Q, Ay = — »» Ay x A

21, (PR IG GHi6 78T ARG AR T AF?
(2) AT ONER (c) e (d) ZrerT
FAIG: (¢); GG HATET @R GG T I 3o

22. @ F 97 deld r Friedd Jeiel At 39S a3 i Bo ferarMer S -

(a) rF (b) —rF (c)0 (d) o
180°

AAEA: (¢); T = rFsin @ = rF,sin 180° = 0 P

23. R N wifte sty wared weea ) 6000 A =0 @ T T Hz?

(a) 5 x 1014 (b) 6 x 10** (c) 5 x 1012 (d) 6 x 1012

3
TA: (a); c = VA = v = £ = — 200 - Hz = 2X 109 X 107 Hz = 5 x 10 Hz

A ) T




VYV -

N e (G| Hmeﬁrﬁ?ﬁ—@a ﬁﬁamqw

(H)WW (b) CGSERG T
(c) T4 A=Fa I (d) S*I%a7 SEF G ZARA
TTIYI: (c); L IS(CRET @ ZCEF) @7 TI#C p-n TIHTTA AL (S TN (Of 27 |
(Extra SyllabusJ
07. v, @ @3B TS e P JFTee IS OE! (on RO Al | O TAD TS (S0 FACO e & JCETH
@ TS O TA?
(a) 2v4 (b) 4v, (c) 5v4 (d) 3v4
FtL: (d); €f4, OR 27y d 9IR IEMIEr I F =,
T O (o7 R CFE, TG FGF AIMITIA I = TN AE = Fd = 2mv? ..o e ()

Taf5 O (7 I ¢, JESA @7 v, T, F x (9d) = Zmv3

y
(ii) + (i) T, (:—:) =9=22=3.y, =3y

Vi

24,  Gfb O G (3 + 0.06) mm T G AFERAT CRATE 90T Plv-
(a) 2% (b) 3% (c) 5% (cl) 4%
AAIY: (d); A = 1r? - & = -ﬂf-x 100% = 2 L% 100% = 2 xmx 100% = 2 X > % = 4%

TN (25 X1 = 25)

| Short Syllabus |

’ 02. 1.008g H, @ W93 e 7

(a) 3.0115 x 1023 (b) 6.023 % 10?3 (c) 12.046 x 10%3 (d) 24.092 x 1073
YA (a); 1 mol H, = 2.016 gH, = 6.023 X 102 B &g . 1,008 gH, = 3.0115 x 1023 5 &g,
03. Juewd ey & o 99 Qi [Ans: ]
(a) TS @ WS (b) SR @ SIGR G (c) AN @ TGS (d) ZZTGITE @ SR
04. =9 GTQre OfEe RTrace IIFS 24 (FAGTEN? [Ans: b]

(2) KCl, CaCl,, NH,Cl (b) KC}, KNO,, Na,S0, (c) KCI,NH,C], Na,C0;  (d) KCI, NH,Cl, NaNO,

05. G0 FIR AT TIA?
(a) NaOH + CH,COOH (b) NH, OH + NH,CI
(c) NaOH 4 HCI (d) NH,OH + CH;COONa

TR (b); (a) AW AT, (b) TR AL, (c) erifire w34 (S «fire + S 19), (d) T9 S + 37 19 w2
06. CH3;—CH = CH— CH, — CH, — OH @553 TUPAC I 7
(2) C%-3-37-1-w1 (b) ¢15-5-S1-3-37 (c) Co1 -4-37-1-Te (d) 5-CForE

.5 4 3 2 1
TG (a); CH; — CH = CH — CH, — CH, — OH

07. M RfFaR TR K, = K2
(@) PCls = PCl; +Cl,  (b) 250, + 0, = 250, ()N +3H, = 2NH;  (d) Hp + I, = 2HI
TTRIA: (d); Sat |, Ky, = K(RT)AP Y, 1 = (RT)A0 [+ K, = K] 4T, An = 0
M=2-(1+1)=2-2=02K, =K(RT)* = K, =K..1 K, =K,




GST 3B Tq<TIRP _ / ‘%5 / . - GST 29 3 AT : 2030-33
08. SUIEIIRS YFIRCS Sy1 f[ferae Jiraer @ ey [Ans: a]
() (CH3)3CX > (CH3),CHX > CH;CH,X (b) CH3CH,X > (CH3),CHX > (CH,),CX
(¢) (CH3)3CX > CH3CH,X > (CH;),CHX (d) (CH3),CHX > (CH3)3CX > CH;CH,X
09. Rl TS &Y A7 [Ans: a]
(a) NO (b) O, (c) CO, (d) H;
10. SRR FHI0Ga AT BN GHIR? [Ans: a]
(a) RzNH > RNH, > R3N > NH; > C4H:NH, (b) C¢HsNH, > NH3 > R; > RNH, > R,NH
(c) NH3 > CgHgNH;3 > R,NH > RyN > RNH, (d) C¢HgNH, > NH3 > RNH; > R;NH > R3N
11.  1-Butene-3-yne {8/ @its @ R T TR 2 Y-
(a) 50 9R 5 (b) 76 @92 3n (c) 80 €32 2T (d) 60 IR 41
YT . . II-I /"H
+(b); CH = C-CH=CH, =, H-C = C—C=C\H
c—>7
T—>3
13. Na(g) +3Hz(g) = 2NH;(g), AH = —92.4 kJ/mol RfEFai NH, <5 Seoive 911 o7
(2) BT 3= (b) Si*ar e (c) N, G Tt (d) H a1 3Tt
AN (b); F-HICSEITR TS S, siaesin R AR SreIEr I FheeT ARG I A"
AR R, BAT T AR | @G RIFAT AH(=)ve, ©IF SICates Rt Siofa & FT NH; @3
TR AW Y T4 |
14. =W #fiffg DO g A5 Te? [Ans: b]
(a) 0-3 mgL™ (b) 4-8 mgL™1 (¢) 9-12 mgL™1! (d) 13-16 mgL™?
15.  C3HgO @3 3716 JY &2
(a) 2 (b) 3 (c)4 (d)5
A (b); CaHgO
IfeCEIEeT: CH; — CH, —CH, — OH  ¢&olH-~1-7e
OH
| CAiIe-2-7e
CH; — CH — CH; |
29[: CH; — CH, — 0 — CH;4 IR 2 2917 91, ey 3o
16,  (PHET SALGNG? [Ans: a]
(a) Si, Ge, As (b) Na, K, Rb (c) Mg, Al, Sb (d) B, Fe, Ni
17. " CH;0H 94 FI{a (I 4a07a YEGIRuer I [myis?
(2) sp (b) sp? (c) sp*d? (d) sp3
H

Y. (d); H—C—-0—H

H
18.  =mIg AlCl, g7 BT @fec e @ERE GRiRiRres [idrny mb Seom =

G IS LG (b) e «ff e (€) TSI (d) SR I

STHIYL: .(c);. + @—COCI o AIC @—c—@ +HCl




/ s GST 5 S HATAHHR00=3

VAL -
I

2
19. CH:;CH:-'C“CHI_C OCH!CHJ 0T @ RG ST @ SEra?

(a) 1 (b)2 (c) 3 (d) 4
[Note: 2T “TTIRLTS” 1 AR “@BRbre” T[]

20. CPTETIE TR Wl (N FHORN HHG F41 T2 [Ans: b]
(a) Cu?* (b) NH4+ (c) A3+ (d) Na*

[Note: TP “NH** U= #f808 “NH” 7]
21, SRETSTR WA A — 2 TR @BTe?
(a) Naz0; (b) Hz 0, (c) K,0 (d) KO,
A (d); AR TR SAHSES SHie 7
22, AINNCS SARCICTS GG N Y (F0 RTE? [Ans: c]

(a) (QIE SR TCEST () AMINCITS Y WO () FRIBI @fqwyt  (d) NCHAS Mo
23. BCl; 93 359 & 97

(a) 104.5° (b)107° . (c) 120° (d) 180°
Cl
~
AN (c); lla
Cl
24. R—CO-R- R—CH, — RIS o9 o @ [Reaha e
(ﬂ) HESU4 (b) NHBH{. (C) chrgo'}r (d) Zn/Hg, HCI
FAYH: (d); Zn/Hg, HC] (fFmeme e fafer)
[_Exf;ra Syllabus ]
0l. N GTEio AR IHI? [Ans: a]
(2) FLEE CE (b) CT& CBIEe ABI (c) TSR oI () FRE-=T o
12. RIS IRIEE TN @62 [Ans: d]
(2) C2TATETEA (b) REoER (c) o137 (d) SR
25. ngﬁawm@tﬂmvﬁmﬁgﬁm? [Ans: ¢]
(a) SO3~ (b) CI~ (c) NO3- (d) OH™

[N[ItE: WA “NO3— ,ﬂamccwoguw
[ aferz e (1S & GRe) 2 (1810 o ) T (ot Recal) 7 (S o eet) <t (e B |

THo7 A (25x 1 = 25)
LShort- Syllabus]

O0l. S99 x 8 y 49 (7 @1 9967 3of Sorafba sie zer sroofo-
(@x=y~1 b)x=y+2 ()% =—y+2 (d)x=—-y—1
TTAII: (d); ST @i, awptee Siboe wperan @@t w 8 w? | 9die, T SeEE 3, ©I% X 8 y S o 8 w?
@2 o ) SR e, w + w? +1=0=2x4+y+1=0u x-—y 1

N /) AR

R




VAV -~ -

02. oW Qi x2 +y% = 1 R 4x* +y* —4WWC‘$@§WWEW&W?

(a) 2 (b) © 7 %
STRA: (d); X2 + y2 = 1 oo (D) T 9GS0 F0G7 55501 71 @74 (0,0) 1
GR IO, r = 1 ~
P +y? =4S4 L =1 () TG Sorn e 9, BN
a=1b=2 X ) 1 X (W) X
= ey ovawe A = Ilnab——l-nrz‘?l‘iftﬂw ‘%
-E-Iab—rzlﬁﬁfkﬂﬁ
=E]1x2—12]7ﬁflﬂw=1—:ﬁﬁtﬂﬂﬁ(;§n5.) ::r.—n

03. [ f(x)dx = 2%, Elf(i — 2x) dx = T

(a) 7 (b) > © 1 (d) 4
T: (¢); = [ f)dx =2 » [2f(Z)dz = 2 .. ... ()
99, [2, (1 — 2%)dx i, 1-2x =z X - 2
2 = —2dx =dz < 2
= 2 [ f@dz =2 [Zf)dz=2x2=1  dx = —1dz z 2 °

04, k@I NN DO LA (k+ 1)x% + (k+ 1)x + 1 = 0 TNAcIq Fereler S 212
(@)—1<k<3 (b)—3<k«1 (c)—1<k<3 (dD1<k<3
T (a); (k+ Dx2+(k+1)x+1=0
~f5Es, D=b% —4ac= (k+1)2—4(k+1).1=k?*+2k+1—4k—4 =k —2k—3 = (k—3)(k + 1)
v erad Goer; g D < 0 & (k+ 1D)(k—3) <0+~ —1<k<3 (Ans)
05. y?=3xqqRx? = 3y AATETIR @7 RV MG TAFI AR et T8
(@) -1 (b)1 (c)2 (d)3
AT (b); y2 =3x X = ¥e i3 (i) X% = 3y ... ... (i) THYH FF AR,

3
A(EZ) =3yoyt =27y 2 y6* —27) =0
£y =0,3 »x=0,3 [()ZO] - AR (0,0), (3,3) » FRAW T m === 1 (Ans))
06. cos? (cnt"’1 (cnt (cns‘1 -E—))) = P97

(a)3 (b) E‘E ©) ﬁ (d) 3 ﬁ
AAYIR: (b); cos (r:nt = (cnt (ms -—-))) (cns (cns"l \f‘)) ("r =— (A S.)

07.  (4,3) @ufafiz quaa TR 93 aAlEH g% (3, l)wwmermm@mﬁ?
(a) (4,0) (b) (5,—5) (c) (4,7) (d) (5, 5)

ST (d); J0G9 (T (IR TR TR e (g
~ AT AT BRI (x4, 1) T, ﬂﬂ:“:”‘i =8=3=35
5",L+1_3=”?1 —6—1=75 9?7 @ ML (X1,y1) = (5,5) (Ans.)

I | ) T




cer vz 7o Va. Vi

y = log, a° ’{ﬁ,dx
Slna —Ina’ -S5lna
(a) SxIna (b) x(ln x)2 (©) xInx (d) x(Inx)?
AqYi: (d); y = logya® = Slogya = 5logy e X log.a = TEZZ = E'hlln: Ly = E;LT
, dy _ d (Slnay _ = -2 1__ _ _Slna
..dx—dx(lnx)—Slnax(( 1)(Inx)™2) x 2 = — 255 (Ans)

09. F @32 2F TR fo 7T 01 =fee (Faive @R 932 e farmie 2F ¥3 2F + 2 St I9903d e
e W2 A F OF TIH F© q5E?

(a)5 (b) 1 ()2 (d) 4
TE: (b); 71 s 9 R (S =

-i—i;&——ﬁF+1 2ZF=F=1493%FI1 (A
"2F T 2F+2 2 F+1 - 1 {Ans.)

12. 3% [a, b] 7314 f(x) @ Sffzm T |, @AE f(@)f(b) > 0, = BF TS f(x) = 0 AT

IR e AFR-
(a) CBIG IR (b) M@ & (c) i@ s o (d) Restre 7=
AAIY: (a);

{ (b,1(5)) Y

(a.1(a)) (a,f(a)) (b,1(b))

X5 (2.0) (©.0) X X<g (aW,u} X

Y Y

Y’ Y

Figure-1 Figure-2

y = f(x) TG x SFE Fo6rEt Rre @7 6 f(x) = 0 FIIT TOGT! IR o1 TR | f(a)f(h) > 0 T
f(a) > 0,f(b) > 094t f(a) < 0,f(b) < 0 |

Fig-1 82 Q9 F;x=a Qa9 f(a) > 08 x=b Qa5 f(b) > 0 | - f(a)f(b) > 0 | B T AP &)
TR ETRPACT (a,f(a)) (AT y-SCF FNGS M AT SRE y-o0 4919 e B (b, (b)) @
QO I T AR @, Fig-1 @ x-S0 @Al 2 61 - I 1 2 61 S99 Fig-2 @71 x-o0sea (@afeq 4 61

I T 4701 SR, BSACHCAL A T IR (G TR | SR, GUFTE T T IR T A I
(TG AP F1BI o7 AP
. e¥¥peTXap
14, }{EIE' = = 9!
(a) —2 (b)0 (c) 25 (d) 50
Ex 5x_ X_Cca—5X
STNYIN: (c); Em = ==, (—rsr@%) = lim L 2:! X [L’Hﬁpital’s ru]e;%ﬁﬂifflﬁ]
= }Eéﬁe“"" 256 > [L’Hﬁpital’s rule] =222 — 75 (Ans)
15, r(1+ cosB) = 2 9T FTSA AN -
(@)x2+y>+x—-2=0 (b)y?—4x=4 (c) X%+ 4x =2 (dy*+4x=4
SHHY: (d); r(1 + cosB) = 2
Hr=2-rcosf=>x2+y2=2—x=x2+y2 =4 4x% —4x . y? +4x =4 (Ans.)

LY, /-




GST S S=e | ' / / y/ GST 63 3 T 2033-33

16. 3X2&aR2 X zmﬁﬁﬁqﬁﬁﬁﬁw—mmﬂwa 7 SfE 091 1 T T(BA) 9T A T F3-
(a) 0 (b) 1 (c) 6 (d)9

O 0 0

U@, Trace T A | A, B 93 3¢ GfFST 1 204, BA =

~Trace U3 A% MH = 3 + 3 = 6 (Ans.)

17. (I ANSAE GF I 2 + iv/3?
@x2+4x—7=0 (b)xZ —3x+2 =0 @) x%—4x+7 =0 (d)x2—4x—7=0
T (¢);x=2+iV3=2x—2=/3i=>%x2 —4x+4 = -3 = x2 —4x+ 7 = 0 (Ans.)

18. FM f(x) = x + sinx T, O x G &I BT &7 £/ (x) = 0 ZA?
(a) 5 (b) 7 ©3 ()
SRIYI: (d); f(x) = x+sinx = f'(x) =14 cosx =0 = cosx = —1 = cosT - X = Tt (Ans.)

19. [, 27] IAECS cos 0 + 1 = 0 G ANYT G G2
@ {-m 7} ®) {m, 21} © {n3} @ {7
FHIA: (a); cos8+1=0=cos8=-1=20=(2n+1)mn€EZ
n=0,-13CTA2, ~0=—m 1 ~ [—n,zn]ﬁhm‘ﬂtiﬂ, T4 (o {—m, 1} (Ans.)

20. 30 5T 4R O @ (IS T zee R 7eerm ofvaw slieae-
@)x+y=0 b)x—y=0 ©x—-y=1 (dx4+y=1
T (b); 5NN {79 T x @32 (6 y T &=, x =y ~ x —y = 0 (Ans.)

22. Ira= -1+;r:§ qJe B = “1';"_3@, O AT T <17
(2) o = —* (b) a = p? (@) o =1—p (do®=1+p3
IAIYI: (b); ST S, 1 99 SibeT IeTed '“jﬁ. 9T, a = ‘“;’:3 = T, B = 2V = 2

2
L‘]?F{: Bz = (m2)2=m4=m3_m= 1.m=m=c[.'.n:=[33
24.  2x2+3y? — 12x + 12y + 29 = 0 I3 T UT I (G T
V2 V3 22 :
@3 ®)7 (©) 5 (d) 2 J;

T (¢); 2x% + 3y2 — 12x + 12y + 29 = 0 = 2(x? — 6x) + 3(y2 — dy) = —
= 2(x*—6x+9)+3(y>+4y+4)=-2942%x9+3x4

[3 3] QTG Trace A% T |

N2 9 (x—3)2 (y+2)j _1 .1
= 2(x—3)2+3(y+2) —1=>(Hz+(;§) 1. ﬁ;b—ﬁ(a,‘:ﬁb)
1

- BoiE e v oy = 2 = =2 = 272 3 (Ans)

7

25, I}jdx =3

0 1+4x
(2)=In (%) (b)In (%) (c) — In(4e) (d) In 4e
A (b); [ mdx = f7 2222 a4y = 11+ 2)

=[-x+2In|1+x[ =-1+2In2=~Ine+1n22 =n4 — lne-_ln() (Ans.)

N /) T




/ % / =~ GST oy 3 ﬂﬁ[ﬂ‘lﬂ : 0ID-

[ Extra Syllabus ]

1
10, f(x) = VT
(@) (—o0,=2) U (-2, m) (b) (—o0,—2] U [-2,0) (c) (—o0,—2) U [-2,0) (d) (—,x)

TAYI: (a); f(x) = J—H—ﬂ

S s, 24+ x) =0
BT OTESANE@TNI©F, [2+%x|#0.x% =2 ~Df=R—{-2} = (—o0,—2) U (—2,0) (Ans.)

11. V2 — 5x farml aif¥iive fagfo (o I=fis Sfese?

() -2 <x<:Z 0)2<x<5 (©)-2<x<5 @-S<x<?
1
ANYE: (a); V2 —5x = (2 — 5x)3
Tre1 "”’1 -5x| _ |ys ﬂ _ _5x 5
ﬂm II'LIE:' Tr I!Lnt;lu r 2 | II'LIE:: 3r )‘ r-—:m( 1)( 2) o 2}{‘
Wrwgﬂ Tri1 <1FSIF

4 [ P [ACHR Ex\ -=::1=>—1{Ex-=‘:1:.—-5--=:xc:§(Ans.)

13. 3M °C, = "C, W, AU x £y, OWF @ A0 A5
(@n=x—-y (b)n=—x+y (c)n=x+y (dn=—-x—y
FANYE: (c); ST S, T[S FAACACE HERPAE, "C = "Cpp @A+ (n—1) =n
X#FyAR "Cy= "CE, x+y=n

21, RE R I O TS A TR SR > 4R < | SR G TG T SR FSA] 07
(a) ¢ (b) (0)= (d) 2
TAGA: (c); P(A) = 5; P(B) = a1 &if, P(A U B) = P(A) + P(B) — P(A N B)
~ P(AU B) = P(A) + P(B) — P(A).P(B); [¥I1€I4 404 (3(d, P(A N B) = P(A). P(B)]
——+——— —=--(Ans)

2°3

Alternative: P(A U B) = 1 —(S QITAH 1% T 900 “H4 AN X (SR RITER FI& 1 F0© A1 FRIKH)
-1-(1-(1-) =133 -1~ 1= T am)
23. P={(xy):0<x<20<y<2}aRQ={(xy):1<x<31<y<3}JEFAPNQ ="

(@) {(xy):0 <xy < 3} b)) {(xy):1<x<31<y<3}
) {(xy)1<x<21<y<?2} (d) {(x,y):1<xv=<2}
TAYA: (¢); PAT &S, 0 < x < 2 D —>P

QUATT, 1<x<3 <—$—F-$+Q

1!
PnQ‘ﬂqW 1<x<? *"—H-‘—'*PHQ

SIS, POA &7, 0 <y < 2
QYT 1<y<3
“PNQUEEH], 1<y<?2

~PNQ={(xy)1<x<21<y<2}(Ans.)
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[Short Syllabus J

01. W JFIFORI @ FCA IO T FC (T G357
(a) TN (b) S (c) e (d) GIiRTeTe
ITAI: (a); BRI, SRR @ STMIZteTs @t “fRsiewiat a a3 | GIesRal €T Qe I =i
| SRS PR @F 2ibia [ w219 T TRERE | 3@ |
02. IS G @HG?
(a) Pinus (b) Cycas (c) Zamia : (d) Podocarpus
STRIYI: (b),w@wwﬁw%mﬁﬁtﬁmmwﬁmﬂmmw cycas- -(F GIIS T I |
03. @ETIAATS TAFS AT (I FIGNI?

(a) Bacillus spp. (b) Plasmodium spp. (c) Mucor spp. (d) Spirogyra spp.
FARYIA: (d); LTS A% 90 spirogyra sp. I RCSG! 23 | option U IS GIAGTET TG ©l
@RS Toifge)

04. (@1 5T RITTITe Ia o Sienfee =
(2) MRCBTHIGAR (b) @RS (c) FTiRTBTeierTT (d) TR

FAHI: (a); TREFGIAR UG @07 beF 37248 237
05.  CPM TOTeTR 1 1T Gt V, L, J, 1S it 77
(a) CATTTS (b) (BICTe (¢) ST (d) COTETTS

SAHI: (¢); V, L, T8 I (P IS (OICG, ARG, SHFIETGS @ GEieiigs 96 53|
06. NG ~BF @FIeT?

(a) AUG (b) UAH (c) UAG (d) UGA
TAHI: (a); AUG Fe&T 7516 At 551 (16 | UAG [t UGA T =571 1 71 ey
07. ‘TR0 SF THFI™T @R AHH? [Ans: c]
(a) ATFEAL (b) TSR (c) STy (d) IF©
08. I oo CATTBI2IES @aIEwa T (T #{fide 7 [Ans: b]
(2) “UICaFI2 (b) CFTANDIZA! () SHEFHIZ (d) it
09.  JiEITATY Regeeiy Sfen FHiG?
(a) GTe (b) Sreffer (c) SifEre (d) ST
FAYI: (c); SIfETAN e RS AEH Qe | |
10. N %2 SAMIT Seite Sfema 2ol @ T ITH ATS? [Ans: d]
(a) ST (b) TR () e (d) T
I1.  DNA 3feres=ted Iraga o4t -
(a) Feulgen stain (b) Methylene blue (¢) Crystal violt (d) Safranin
PTSIIT: (); GRS TR GFITTICIET 38 *[4% $909 I DNA 93 Bond Pair *diie F9rs Feulgen
Staining 2T F41 27 |
12, A Prerzifbs spenfPera?
(a) Human-lice (b) Bean-bacteria (c) Goat-tapeworm (d) Human-worm

STAYH: (b); Bean ((TfMIFT 215) 8 IR Symbiotic-Sita 39717 9 | (ao: FIerol Siima TSI
Rhizobium IJ7<o @t 91991 $¢d N, A&q I | ﬁﬁmmfﬂswwm|

i / @ /
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13.  CaivR ARIEEN aas%wrﬁ% SRl JEHRITS (@ 470 2T GTaiTs 2ITa?
(a) CTSTES (b) FrIfErI (c) R (d) &=
AAIYH: (b); TR THIREN TR AR T ATF | o] Siceive Tereion 97 JoReiRe afolT Aoy
14. 91, Il @ ACST S Bl GG SIRAPT?
(a) Tipula Iridescent (b) T, (c) afer=ifetT Preasr  (d) 3mIfefe
FANY: (d); Emerging Virus 93 va

g AR S \ Nile Virus
Ebola
15. oI Sistms Boe Medngiad 2yfe- [Ans: b]
(a) Biopharming (b) Tissue culture (c) Genome sequencing  (d) Genetic engineering
17.  AB” SF7A IS (I (FIF SF2I0F T6 W7 FA00 2AIE?
(a) AB*, AB™ (b) BY, AB* (c) O, AB*, AB™ (d) A*,B*, 0"
Y: (d); Rh-3% 41941 Wremwe eftom Negative @ Positive-(F 9% WMt® 2{ITA |
19.  CTIE STIRATT ADP OF AN F T FAEF6 T& T ATP o 29917 &ftFaics I0- [Ans: c]
(a) ATARFHLCITA (b) HIRTFEAR™ (c) TEFATRIZETT () 4
20. AGI T BAMY oifFHiTs T 79 =0 [Ans: a]
(a) et (b) TG TS (c) MR AT (d) STITATT=iifa
21.  Tal"Cas &AfeFat (N Sfema e
(a) JAFIZD (b) GRTSIFIZG (c) TS (d) weAG
TAAYE: (d); SN (Angiosperm) Bfstw fafcas ot i)
22.  SAiRES & @3 REGREAE e - [Ans: d]
(a)9:3:3:1 (b)1:2:1 (c)13:3 (d)9:7
23. (I 40T Tiew % Sroi@rE Qe AR Wre s [Ans: b]
(a) C, Bfem (b) C, Tfem (€)C; 8 C, Tfegn oz (d) FIAIGE 7
24. TR TOEGF @ISR o7%9)- [Ans: c]
(2) AT AT 97 @ Q6 (b) 9ol
(c) oI mdeTol @ I TSR (d) S5 tef = 2ez
25.  COAPT ALPIBTRR &y I S0 SF TR 2
(2) Na (b) Ca (©) K (d) Cl

FHIHIA: (b); Muscle fibrils-q Actin 8 Myosin filament “INS%1 T | Ca SEF 7= Cytoplasm- (& diffuse T
(LT | T Actin '8 Myosin filament QTS ST S04 5 2109 | W@ﬂ“j\‘f oI e I I

[ Extra Syllabus ]
18. =R #Afftae T ¢ @ ohe e @i 4107 Bigme
(a) Halophytes (b) Mesophytes (c) Xerophytes (d) Hydrophytes

STHIYI: (a); ‘Halons’ *it3a &iff &2t | ©f3, Halophytes-d s19¢li& AR ot Qe |
| Old Syllabus ]

16. ILAICIO AR i SITR?
(a) T (b) ™Gt (c) SCBART (d) Co=TToi
AN (d); Conglobate 3T Phallic &ﬁ (SFTICo T g0 Bvay Nets R Gfb (ST eerToray See |
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02.

03.

04.

06.

07.

08.

09.

10.

11.

12.

13.

14.

EEN /

‘Q (O & SO ST (L -9 FIRTH il =B Ft e 2yazra 91 2007

(a) ST )T ERAT™IT I (o) FfEE e (d) rgIzrel 1223t
ST (b); &% 7551 @ AT SIS IR (e Tgw G769 72, T 6 GRS, ST,
AR, beii i oifS- « 72 IR I%7 TP @By

TRACE THTF I, I IR TR - FiZA <l SlRo s@rfe? [Ans: d]
(a) 9Ol (b) SyaIAY (c) 4 (d) TR SpUs

VT TR SR DT oA AW [Ans: b]
(a) Collier (b) La Parurc (c) La fiesta (d) Le Parure

TRANS FIE & SR (I DO *o3d Bvife zmme? [Ans: c]
(a) il (b) FINIET #H=if (c) Frmi®) (d) ST ST
TR T 29T erwifie = @I ST [Ans: d]
(a) FeeT (b) Stz (c) FTAIT (@) Ea

0o80-9q ﬁ%m AT O I A2 [Ans: b]
(a) P (b) G (c) G0 Il “tived FHfR (d) et

RAT AT IFTCR CFIF SIBR S2relat “inset T2 [Ans: c]
(a) Fic=ie (b) BT (c) THARIE (d) T2

WIS I ASH A O 7 2[T7 G e AT 1’- F1F Bf?

(a) TG WA OFEEIE LG ©CRIEEaAT  (d) 3T ST

STRII: (c); IR ST o1 (A0 Nefere 2wz | S o o4 s Tt S
WO’ *THF TR THF (FI6?

(a) TTox (b) TSI OkEicel (d) TS

AL (c); ey - wawwmmfﬁﬁ‘ﬂl

"SI CF TE FCX G PLACRA (I 32 [Ans: b]
(a) TGl F&=FaT VAN (b) SAN QA (c) *I2w et (d) > AR
AR K/’ (& G ST FI 9411 277

(a) Tz (b) Frer - ORI (d) =R

AAL: (b); PIE™ - STeTeiaa =/ o= |/i;
== - 397, ol - erefen I,

92 - 7foa T |

'Monitoring'- #1564 qiea7 Afaerar @wt? [Ans: a]
(a) “AfaSrwed (b) (c) *IfTTeTs (d) *rgTre!

SFOI] ALNS’ &f132 A6t T [Ans: b)
(a) 2&A FEt (b) Areiee g () T3 () *TE S A
‘G <G (I ST (A 77

(a) fars (b) Eeeafer (c) TR (d) stifew

ATYI: (a); ToTFa Serar aifo=+ zrall Drama, Drama w3 OTCE {89 Dracin 1% AT | T N =31 to
do It (317 g =1
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(a) [AOad ONEE (c) T (d) Ry
TaryE: (d); [ReTEy S oo *[sd G99

16. <if TR 5Ta T ST e W 17~ OfF (I FE I [Ans: a, c]
(a) o (b) i (c) SfoeT (d) ST

17. vaia orea B AT e &N *09? [Ans: d]
(a) SFEIF! (b) FToE () 1Y (d) FiE

18. ‘HAING’, ‘GAI’ 8 ‘GNalq” *ateice 9-g KL ey 39 &2 [Ans: d
(a) CAT* *= (b) ST =% (c) RTaf == (d) TR =%

19. @HL I ST FRuE= 7492
(2) AT ST (b) (PG FIb1 (c) T2 8 &I (d) T IS
AMLE: (c); T2 € T - ACorgId 7E Ao |

20. ‘(BTG *I9 widl QIR [Ans: a]
(2) TG 0 EE 41 (b) TS B (A
(c) Togf& zeut (d) (I IS TFTSNT 1T T4

21. ‘«affe’ @ o 2 [Ans: c]
(a) GGt 2% Fi7G (b) 1o T2t TG (c) It GHifsT FI9e (d) SWIE Sited 19T

22. ‘9% 9IS 9T B AR’ IO @I BRM T AN 6T A2 [Ans: a]
() TR, Ty, =y, S (b) YT, STH, *H, St
(c) 4T, FITEL, o, 4IRS (d) T, T AT, GRS

23. O30 SAER GIIfHT BoNw S Oits H 401 T2
(a) TS (b) AP (c) ofrefromm (d) STt

TIYI: (d); TN - a2 Toitaeaa G FfEs Somm Qs
24. Tf& *Itwe 4G @ Lo @A?
(a) T + 5 (b) 5 + & (c) T + & (d) 35+
ANY: (c); V6 + & - Feom
25. ‘gfRQR % i =% @ min?
(a) SR (b) IR (c) ST (d) @

AAYI: (a); CPITAT SR A IR Tl T A1 - WA | 3 308 F=@e w4 47 - gfiae
English (25X 1 = 25)

0l. Wewentout  the cold weather. [Ans: a]
(a) despite (b) however (c) besides (d) although

02, What is the meaning of the idiom ' Under the weather'? . [Ans: c]
(a) Wet all over (b) Exposed to severe weather conditions
(c} Unwell (d) Under a weather warning

03. Itis dangerous to walk _ the highway. [Ans: d]
(a) beside (b) by (c) in (d) across

04. Isaw the ferry  down the river. [Ans: a]
(a) floating (b) float (c) to float (d) be floated

05. Which word is both a noun and a verb? [Ans: b]

(a) believe (b) void (c) advice (d) instruct

VAN
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06. To be considered ecotourism, a trip must- [Ans: c]
(2) maximize the impact of visiting the locations (b) provide indirect financial aid for conservation

(c) raise the travelers' awareness of the host country's political, environmental, and social climate
(d) ensure positive experience only for the travelers

07. "Man is by nature a social animal," said by- [Ans: b]
(a) Plato (b) Aristotle (c) Darwin (d) Shakespeare

08. ___you need any further information, please contact the help desk. [Ans: a]
(a) Should (b) However (c) Although (d) Why

09. A word similar to 'ecstasy’' is- [Ans: d]
(a) plight (b) delight (c) increment (d) bliss

10. "Life is a walking shadow". Here the underlined word is a/an- [Ans: a]
() Noun (b) Adjective (c) Verb (d) Adverb

11. Manasamangal is a/an . [Ans: d]
(a) tragedy (b) comedy (c) epic (d) ethnic song

12.  Which one is not the characteristic of folk music? [Ans: a]
(a) influenced by classical music (b) transmitted orally
(¢) sung is groups or individually (d) no regular practice is required

13.  Verbal bullying refers to- [Ans: ]
(a) spitting (b) tripping (c) teasing (d) spreading rumours

14.  Ashe had COVID-19, he had to be ___ from other members of his family. [Ans: c]
(a) Estranged (b) eliminated (c) isolated (d) alienated

15. A remedy for all diseases is known as- [Ans: a]
(a) Panacea (b) apathetic (c) marvel (d) recompense

16, The meaning of ' prodigious’ is- [Ans: d]
(a) great in leadership (b) a person in great pain
(c) exceptionally active (d) remarkably great in mental or physical ability

17.  Find out the sentence that maintains subject and verb agreement.
(a) The jury was not from the same town. (b) He talks as if he was a king
(c) 1had my room clean. (d) He ran fast lest he should have miss the train.
Note: Blank Answer

18.  Choose the appropriate pair of words that matches the relationship between Petrol: Car. [Ans: b]
(a) Red: Rose (b) Horse: Cart (¢) Tools: Carpenter (d) Seed: Orange

19.  'To read between the lines' means- [Ans: d]
(a) to read carefully (b) to read only some lines
(c) to read quickly to save time (d) to read carefully to find out any hidden meaning

20. "Life is a broken-winged bird/That cannot fly"- these lines are written by- [Ans: d]
(a) D.H. Lawrence (b) W.H. Auden (c) Martin Luther King Jr. (d) Langston Hughes

21.  Which sentence is grammatically correct? [Ans: a]
(a) Either Rimi or her brothers know the news. (b) Either Rimi or her brothers knows the news.
(c) Either Rimi or her brothers known the news. (d) Neither Rimi or her brothers knows the news.

22.  What is the meaning of the underlined phrasal verb in the sentence- "Mr, Zaman tore up the letter after
reading it'? [Ans: b]
(a) Stored (b) Destroyed (c) Folded (d) Hid

23.  The gift was wrapped ___ blue paper. [Ans: d]
(a) by (b) on (c) around (d) in

24. Mr. Qureshi is a university Professor. Here ' university' is a [Ans: ¢]
(2) Noun (b) Determiner (c) Noun adjective (d) Pronominal adjective

25.  Select the right antonym for the word 'cowardly’ [Ans: c]
(a) Cowering (b) Panicky (c) Daring (d) Placid




